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Example

1. Write the order of the matrix 
⎡
⎢
⎣

4 9

11 −7

41 6

⎤
⎥
⎦

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_YWKfImZ1kVLT


Watch Video Solution

2. Write a matrix of order  in which every

element is equal to 2 .

Watch Video Solution

2 × 2

3. Write all the possible orders of the matrix

containing 6 elements.

Watch Video Solution

https://dl.doubtnut.com/l/_YWKfImZ1kVLT
https://dl.doubtnut.com/l/_qHTLdLwIzuGh
https://dl.doubtnut.com/l/_fcbBF1xndh2r
https://dl.doubtnut.com/l/_OhsLLdMQJsbH


Test Your Concepts Very Short Answer Type

Questions

4. Draw a route map corresponding to the

following matrix 

Watch Video Solution

X =

⎛
⎜
⎜
⎜
⎝

1 0 2 1

2 1 0 3

0 0 1 2

1 0 3 2

⎞
⎟
⎟
⎟
⎠

1. The order of a matric indicates ?

Watch Video Solution

https://dl.doubtnut.com/l/_OhsLLdMQJsbH
https://dl.doubtnut.com/l/_t2xi2P2LVjUw


2. A rectangular arrangement of number in

rows and columns is called _______

Watch Video Solution

3. Write the matrix of the order .

Watch Video Solution

3 × 2

4. The order of the matrix  is

_______.

[
5 2 4 4

7 9 12 10
]

https://dl.doubtnut.com/l/_jztL1md4n3VK
https://dl.doubtnut.com/l/_z8Nh8Ggq8a97
https://dl.doubtnut.com/l/_sopHOpl8BnIt


Watch Video Solution

5. If a matrix contains 4 columns and 2 rows ,

then find its order .

Watch Video Solution

6. Find the orders of the matrics

 and B = 

Watch Video Solution

A =
⎡
⎢
⎣

6 5 1

5 −3 1

5 2 −4

⎤
⎥
⎦

[
7 9

14 6
]

https://dl.doubtnut.com/l/_sopHOpl8BnIt
https://dl.doubtnut.com/l/_q8vOCEjF3Anh
https://dl.doubtnut.com/l/_MGaxocLABsdR


7. In the matrix  , the element

in the first row , second column is ______.

Watch Video Solution

[
2 −1 4

−3 0 5
]

8. The order of the matrix formed with the

information given in the following table is

______. 

https://dl.doubtnut.com/l/_rFpfj6Gejb7N
https://dl.doubtnut.com/l/_P1TYCkAESx7c


Watch Video Solution

9. If the order of a matrix is  , then the

number of elements in the matrix is ______.

Watch Video Solution

10 × 9

10. A matrix contains 5 rows and 3 columns

where every element in the matrix is 5 , then

find the matrix.

Watch Video Solution

https://dl.doubtnut.com/l/_P1TYCkAESx7c
https://dl.doubtnut.com/l/_cjAj0cKIWeyR
https://dl.doubtnut.com/l/_5M4RtcKix4oA


Test Your Concepts Short Answer Type Questions

1. Write all possible orders of the matrices that

contain 4 elements.

Watch Video Solution

2. Find the order of the matrix . 

Watch Video Solution

⎡
⎢
⎣

7 4 6 1

20 0 1 7

6 1 14 4

⎤
⎥
⎦

https://dl.doubtnut.com/l/_LuhMFIL2Hwfp
https://dl.doubtnut.com/l/_H2fapoIihBWD


3. There are 4 routes from city A to city B, 5

routes from city B to city C and 3 routes from

city C to city A. Convert the above information

into matrix form.

Watch Video Solution

4. The order of a matrix is  where every

element in the matrix is 6 . Find the matrix .

Watch Video Solution

4 × 2

https://dl.doubtnut.com/l/_8QOROK7DCcZr
https://dl.doubtnut.com/l/_pIt2qSDYOFfM
https://dl.doubtnut.com/l/_cHaJq2yNwv0i


5. Write a matrix which contain 4 rows and 2

columns .

Watch Video Solution

6. If a matrix has 15 elements, then find the

possible order of the matrix.

Watch Video Solution

https://dl.doubtnut.com/l/_cHaJq2yNwv0i
https://dl.doubtnut.com/l/_3Yjb5OjxJx2x


7. Find the order of the matrix

Watch Video Solution

⎡
⎢
⎣

4 2 3 7

11 4 1 1

4 3 0 14

⎤
⎥
⎦

8. Three students Anil, Nikhil and Sunil went to

a stationary shop and purchased some items.

Anil purchased 3 books, 2 erasers and 5 scales.

Sunil purchased 5 books, 6 scales and 3

erasers whereas Nikhil purchased 2 books, 3

https://dl.doubtnut.com/l/_ursGeZLZIRJo
https://dl.doubtnut.com/l/_boWlpPq8wGN3


scales and 4 erasers. Represent the given data

in the matrix form.

Watch Video Solution

9. The distance from Hydrabad to Mumbai,

Delhi and Bangalore are 750 km, 800 km and

600 km respectively. Similarly, the distance

from Vizag to Mumbai, Delhi and Banglore are

1350 km, 1250 km and 1450 km respectively.

Represent the above information as a 

matrix.

3 × 2

https://dl.doubtnut.com/l/_boWlpPq8wGN3
https://dl.doubtnut.com/l/_pEZgvNW73t0Y


Concept Application Level 1

Watch Video Solution

1. If a matrix contain 4 rows and 2 columns ,

then the number of elements of the matrix is

_______.

A. 6

B. 8

C. 10

D. 15

https://dl.doubtnut.com/l/_pEZgvNW73t0Y
https://dl.doubtnut.com/l/_uM2WN2W0c03G


Answer: B

Watch Video Solution

2. If a matrix contains 20 elements , then the

order of the matrix can be _______.

A. 

B. 

C. 

D. All the above

5 × 4

20 × 1

1 × 20

https://dl.doubtnut.com/l/_uM2WN2W0c03G
https://dl.doubtnut.com/l/_XhWCEfCdCu5r


Answer: D

Watch Video Solution

3. The number of rows of the matrix

 is ________.

A. 3

B. 4

C. 2

D. 1

⎡
⎢
⎣

3 4 5

6 7 8

9 10 11

⎤
⎥
⎦

https://dl.doubtnut.com/l/_XhWCEfCdCu5r
https://dl.doubtnut.com/l/_GLjmbtmjr5n9


Answer: A

Watch Video Solution

4. If a matrix contain 5 elements, then how

many different orders of matrices are possible

?

A. 1

B. 2

C. 3

D. 4

https://dl.doubtnut.com/l/_GLjmbtmjr5n9
https://dl.doubtnut.com/l/_1YoiE5lJtcEO


Answer: B

Watch Video Solution

5. The number of columns of the matrix

 is _____.

A. 2

B. 6

C. 3

D. 5

[
1 2 3 4 5 6

7 8 9 10 11 12
]

https://dl.doubtnut.com/l/_1YoiE5lJtcEO
https://dl.doubtnut.com/l/_3Oqj7nQrZp8v


Answer: B

Watch Video Solution

6. If a matrix has 7 elements, then the order of

the matrix can be

A. 

B. 

C. 

D. None of these

4 × 3

3 × 4

4 × 1

https://dl.doubtnut.com/l/_3Oqj7nQrZp8v
https://dl.doubtnut.com/l/_wTAFWFGuQcgg


Answer: D

Watch Video Solution

7. Which of the following is a  matrix ?

A. 

B. 

C. 

D. 

1 × 3

⎡
⎢
⎣

1

2

3

⎤
⎥
⎦

[ 1 2 3 4 ]

[ 4 5 6 ]

[ 0 0 0 0 ]

https://dl.doubtnut.com/l/_wTAFWFGuQcgg
https://dl.doubtnut.com/l/_DD573tTvQceQ


Answer: C

Watch Video Solution

8. The order of the matrix  is

A. 

B. 

C. 

D. 

Answer: A

[
1 2 3

4 5 6
]

2 × 3

3 × 2

4 × 1

3 × 3

https://dl.doubtnut.com/l/_DD573tTvQceQ
https://dl.doubtnut.com/l/_aQwNsfMe9ZsS


Watch Video Solution

9.  


The above matrix represent the number of

routes by which we can travel from one place

to another. 

How many ways can a person travel from B to

C?

A. 3

B. 5

A

B

C

A    B    C

⎡
⎢
⎣

0 3 4

3 0 5

4 5 0

⎤
⎥
⎦

https://dl.doubtnut.com/l/_aQwNsfMe9ZsS
https://dl.doubtnut.com/l/_5MZQg1lqpyUN


C. 0

D. 4

Answer: B

Watch Video Solution

10.  


The above matrix represent the number of

routes by which we can travel from one place

to another. 

A

B

C

A    B    C

⎡
⎢
⎣

0 3 4

3 0 5

4 5 0

⎤
⎥
⎦

https://dl.doubtnut.com/l/_5MZQg1lqpyUN
https://dl.doubtnut.com/l/_iGGoSzfMfUs7


How many ways can a person travel from C to

A or B ?

A. 3

B. 7

C. 8

D. 9

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_iGGoSzfMfUs7


11. Which of the following is a  matrix ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2 × 1

[ a b ]

[
a

b
]

[
a b

c a
]

[ a b c ]

https://dl.doubtnut.com/l/_0B9Z4zBXHlBT


12. In the matrix  , the element

in the second row , first column is ______.

A. 5

B. 0

C. -3

D. 4

Answer: c

Watch Video Solution

[
6 1 −4

−3 8 9
]

https://dl.doubtnut.com/l/_qrbljozH4D75
https://dl.doubtnut.com/l/_gObF1A6lYTaL


13. The order of the matrix formed with the

information given in the following table is

______. 

A. 

B. 

C. 

D. 

1 × 9

9 × 1

3 × 3

3 × 2

https://dl.doubtnut.com/l/_gObF1A6lYTaL


Answer: C

Watch Video Solution

14. A matrix of order  contains 7

elements, then how many different order pairs

(m,n) can take ?

A. 2

B. 1

C. 3

D. 7

m × n

https://dl.doubtnut.com/l/_gObF1A6lYTaL
https://dl.doubtnut.com/l/_Vh9bTakPOMWg


Answer: A

Watch Video Solution

15. If a matrix contains 8 elements, then the

order of the matrix can be _____

A. 

B. 

C. 

D. All of these

2 × 4

4 × 2

1 × 8

https://dl.doubtnut.com/l/_Vh9bTakPOMWg
https://dl.doubtnut.com/l/_scCUJb9ypDgT


Concept Application Level 2

Answer: D

Watch Video Solution

1. If a number of rows and that of columns of a

matrix are equal and the matrix contains 36

elements , then the order of the matrix is

________.

A. 3 × 3

https://dl.doubtnut.com/l/_scCUJb9ypDgT
https://dl.doubtnut.com/l/_kf0J1Z9BNTVN


B. 

C. 

D. 

Answer: D

Watch Video Solution

4 × 4

8 × 8

6 × 6

2. The order of the matrix  is

________.

A. 

[ a b c d ]

5 × 1

https://dl.doubtnut.com/l/_kf0J1Z9BNTVN
https://dl.doubtnut.com/l/_Ec32vTa3iwJ0


B. 

C. 

D. 

Answer: C

Watch Video Solution

2 × 3

1 × 4

4 × 1

3. The element in the second row and third

column of the matrix  is ________
⎡
⎢
⎣

1 2 3

4 5 6

7 8 9

⎤
⎥
⎦

https://dl.doubtnut.com/l/_Ec32vTa3iwJ0
https://dl.doubtnut.com/l/_1aQjXbEao76j


A. 7

B. 6

C. 8

D. 9

Answer: A

Watch Video Solution

4. The element in the third column of matrix 

 are _____
⎡
⎢
⎣

1 5 10

3 6 11

4 7 12

⎤
⎥
⎦

https://dl.doubtnut.com/l/_1aQjXbEao76j
https://dl.doubtnut.com/l/_aCtD2RSYFiok


A. 1,3,4

B. 10,11,12

C. 5,6,7

D. 4,7,12

Answer: B

Watch Video Solution

5. Which of the following is a  matrix

such that every element in the matrix is zero ?

2 × 3

https://dl.doubtnut.com/l/_aCtD2RSYFiok
https://dl.doubtnut.com/l/_ESejfuhTqZCh


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[
0 0 0

0 0 0
]

⎡
⎢
⎣

0 0

0 0

0 0

⎤
⎥
⎦

[
0 0

0 0
]

⎡
⎢
⎣

0 0 0 0

0 0 0 0

0 0 0 0

⎤
⎥
⎦

6. The elements in the second row and first

column of the matrix  is _______.[
4 5 6

7 8 9
]

https://dl.doubtnut.com/l/_ESejfuhTqZCh
https://dl.doubtnut.com/l/_7GHK34dWpdps


A. 7

B. 8

C. 5

D. 6

Answer: A

Watch Video Solution

7. The element in the second row of the matrix

 are ______
⎡
⎢
⎣

a b c

1 2 3

5 6 d

⎤
⎥
⎦

https://dl.doubtnut.com/l/_7GHK34dWpdps
https://dl.doubtnut.com/l/_dfGociZKZ5I4


A. 

B. a,1,5

C. b,2,6

D. 5,6,d

Answer: A

Watch Video Solution

1, 2, 3

8. Anitha, Nikita and Ankitha have purchased

some books, pencils and pens, This can be

respresented in the following matrix. 

https://dl.doubtnut.com/l/_dfGociZKZ5I4
https://dl.doubtnut.com/l/_rYvHjWmFHssL


 


The total number of items purchased by

Ankitha is

A. 9

B. 7

C. 13

D. 10

Answer: C

Watch Video Solution

Anitha

Nikitha

Ankitha

⎡
⎢
⎢
⎢
⎢
⎣

Books Pens Pencils

5 7 8

4 3 2

7 6 0

⎤
⎥
⎥
⎥
⎥
⎦

https://dl.doubtnut.com/l/_rYvHjWmFHssL


9. Anitha, Nikita and Ankitha have purchased

some books, pencils and pens, This can be

respresented in the following matrix. 

 


The total number of items purchased by

Ankitha is

A. 18

B. 10

C. 15

Anitha

Nikitha

Ankitha

⎡
⎢
⎢
⎢
⎢
⎣

Books Pens Pencils

5 7 8

4 3 2

7 6 0

⎤
⎥
⎥
⎥
⎥
⎦

https://dl.doubtnut.com/l/_rYvHjWmFHssL
https://dl.doubtnut.com/l/_Pm7SAnwO3daD


D. 16

Answer: D

Watch Video Solution

10. Anitha, Nikita and Ankitha have purchased

some books, pencils and pens, This can be

respresented in the following matrix. 

 


The number of pencils purchased by Anitha is

Anitha

Nikitha

Ankitha

⎡
⎢
⎢
⎢
⎢
⎣

Books Pens Pencils

5 7 8

4 3 2

7 6 0

⎤
⎥
⎥
⎥
⎥
⎦

https://dl.doubtnut.com/l/_Pm7SAnwO3daD
https://dl.doubtnut.com/l/_pb0jLApQaHaD


A. 8

B. 2

C. 7

D. 15

Answer: A

Watch Video Solution

11. If a matrix has 30 elements , then the order

of the matrix can be ________.

https://dl.doubtnut.com/l/_pb0jLApQaHaD
https://dl.doubtnut.com/l/_7KOJbRUgdqOi


A. 

B. 

C. 

D. Both A and B

Answer: D

Watch Video Solution

5 × 6

6 × 5

10 × 1

12. If the number of rows and the number of

columns of a matrix are equal and the matrix

https://dl.doubtnut.com/l/_7KOJbRUgdqOi
https://dl.doubtnut.com/l/_5HPW3qijLaIT


contains 25 elements, then the order of the

matrix is _______

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4 × 4

6 × 6

5 × 5

1 × 25

https://dl.doubtnut.com/l/_5HPW3qijLaIT


13. The element in the second row and third

columns of the matrix  is _______

A. x

B. p

C. d

D. c

Answer: D

Watch Video Solution

[
x y z p

a b c d
]

https://dl.doubtnut.com/l/_u9EsYkgfIpiU
https://dl.doubtnut.com/l/_1O7Wa8x1beQr


14. The order of the matrix  is ______.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢
⎣

c

y

x

−x

−y

z

⎤
⎥
⎥
⎥
⎥
⎥
⎥
⎥
⎥
⎥
⎦

1 × 4

6 × 1

1 × 6

4 × 1

https://dl.doubtnut.com/l/_1O7Wa8x1beQr


15. The elements in the second column of the

matrix  are _______

A. 0,0,0

B. 

C. 

D. 

Answer: B

Watch Video Solution

⎡
⎢
⎣

0 5 3

−5 0 2

−3 −2 0

⎤
⎥
⎦

5, 0, − 2

3, 2, 0

5, − 2, 0

https://dl.doubtnut.com/l/_iLQCpvnARCXy



